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Puzzle #6
#lxx = 8
#2@++ = 27
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SLICING 3D FIGURES

DIRECTIONS: DETERMINE THE 2D SHAPES

THAT CAN BE FORMED BY A VERTICAL OR A
HORIZONTAL SLICE AND CIRCLE YOUR ANSWER.
FIND THE CORRECT BOX IN THE GRID AT THE
BOTTOM OF THE PAGE AND SKETCH THE IMAGE
ASSIGNED TO THE SOLUTION.

ICROSS SECETIONS OF S FICURES |

HORTZONTAL SLICING OF A H

TRIANGULAR PRISH

YERTICAL SLICING OF A
TRIANGULAR PYRAMID

TRIANGLE:

RECTANGLE:
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C

DIRECTIONS: DETERMINE THE SOLUTION FOR EACH
PROBLEM AND CIRCLE YOUR ANSWER. FIND THE
PROBLEM NUMBER AT THE BOTTOM OF THE PAGE AND
FILL IN THE BLANK WITH THE WORD(S) ASSIGNED
TO THE SOLUTION.

fhwpehV=6.3. 3203
dhape 2V =b.3.3=Fm3

ot vame = 5403 454 3 = g3 f

8in
-
" cm - 18in

Y INS: 4914 (M3: M3 1,264 IN3:
48TH THE ALOHASTATE | FRANKFORT CARDINAL | YELLOW HIBISCUS

0INS: 1 Y eMs: 105 M3: 360 IN: 1584 INS:
4qTH THE SUNSHINE STATE TOPEKA NENE APPLE BLOSSOM

37 IN3: 4914 (M3: 270 M3: 280 INS: 79 IN3:
50TH THEGOLDENSTATE | HonoLuLy PARROT GOLDENROD

=) HAWATIIS THE ..o STATE TOENTER THEUNITEDSTATES. O
=3 THE STATE NICKNAME IS
=== THE STATE CAPITAL IS
= THESTATERIRD IS A
] == THESTATEFLOWER TS A




' HO0LE D4 SOBUNMD LIHPOLL SHY 30 OVIDA S
H L= B ILLTG

é4sow 2y sabuya Pavapuay

_ 40 25030 UM
07 $524 9 uio Paseq 2P0y H
e 2030 U6 St Wit g |

PUO A6 L3 100 L 524075 o0 | B

o Y STTYWINY SHL YOV YATTYS 40 [
| SNOTIV9 OT SDNA0YA TYWINY STHL 1TWOA B

== Hb
T 459 O v PR U

L == 3L LS opbinsa 2y Hmmfﬁ :
| —— gl 0 0 A 3 ot 01 J19YNN ST IVWINY STHL dN INIINYLS
| LT ETBTD | gy s o ot | 40 NMOTINIAYT IS NYD TWWINY SIHL

Powi pul VapaL UWoaw 2
Prniaputa o7 30 saaesoal
EADNIANEL IVILINGD

NIV44 JTHL NVHL VS TH0W dn v
o SERAR HLT3L SIYWINY STHL INYTNO TYHAYW
YET [  ANY 40 S3A3 LS393Y 3HL SYH WWINY STHL

8’OZ * | bhOT'€9 T 87 kS
A  J——
L INIW1 30

hk OT'€21£8C HS
JONVIW
JHL INIWNEIL30
ARTANIAN
10 3400
JHL INIWA313d
(188870 bl
*JONVIQIW
IHL INIWYILIG
AR AN
‘JONVIW
FHL INIW3L30

TIVAS ANY14
JHLNI SISSOD INITIHL HALITTHL ILTAM ANV 39d FHL J0 WOLLOS FHL ANV JIFWAN WI1903d HL ONT4 1HILY HL
NO JIMSNY 3HL OL INTTLHITVALS ¥ MYdQ ANY 143713HL NO WIT90¥d Y2 S0 NOTLMIOS FHL INTIWHEE30 :SNOTLOII]

XONIQNJ1 TVIINIS J0 STANSVIN

-ayeq “ouy




Neme:

Date:

L

DIRECTIONS: DETERMINE THE CORRECT BOX AND WHISKER PLOT OF EACH SET OF NUMBERS AND CIRCLE YOUR ANSWER. FIND THE
PROBLEM NUMBER ON THE MYSTERY PICTURE AND SHADE IN THE ENCLOSED REGIONS WITH THE COLOR ASSIGNED TO YOUR ANSWER.

32.46.28.13.10.
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BLACK
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RED
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H Abox mmmmwmmnm

H} e woing measures of voriation fo dspiay the

H dsirta
bbdedpurhof # bt ot Inchude o lowier ond

1
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H STEPS:

H | List the datn From least to greatest
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: Mihwgmﬂu
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Name:

PROPORTIONS

| DIRECTIONS: DETERMINE THE VALUE OF X FOR EACH PROBLEM ON THE LEFT AND DRAW A STRATGHT LINE TO THE ANSWER ON
THE RIGHT FIND THE PROBLEM NUMBER AT THE BOTTOM OF THE PAGE AND WRTTE THE LETTER THE LINE CROSSES IN THE

BLANK SPACE.

THIS ANIMAL IS THE LARGEST ANIMAL ON
FARTH. IT IS BELIEVED THAT SOME SPECIES
CAN LIVE OVER 200 YEARS. THIS ANIMAL IS
REQUIRED TO BREATHE AIR REGULARLY. THIS
ANIMALS EYES ARE SMALL COMPARED TO ITS

10 OTHERS WITHINITS SPECIES THROUGH

H "SONG". THIS ANIMAL IS A...

Date:

| WHAT IS A PROPORTION?

H A proportion Is wode up of two
H equivalent fractions combined with an

H equl sign.

g%—b) a-d=b-0

OVERALL SIZE. THIS ANIMAL COMMUNICATES

H STEPS:
H 1. Cross multiply
H 2. Divide by the coeffivient

EXAMPLE 1: Sdve for the missing

)90 < Gxm=3 90+ 5 = 5%+ G2 %= 6 3

EXAMPLE 2: Soive for the missing

2)78 - Bx =78 - § =B - § =2y = 35 F

g
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Name

Date:

CENT CHA

DIRECTIONS: DETERMINE THE PERCENT OF CHANGE FOR EACHPROBLEM AND CIRCLE YOUR ANSWER. ROUND TO THE HUNDREDTHS PLACE
WHEN NECESSARY. FIND THE PROBLEM NUMBER ON THE MYSTERY PICTURE AND SHADE IN THE ENCLOSED REGIONS WTTH THE COLOR
ASSIGNED TO YOUR ANSWER.

GARY WENT FROM2 A'STO'5 A'S. WHAT IS THE
PERCENT CHANGE?

2507 INCREASE:
YELLOW

1507 INCREASE:
RED

3007 INCREASE:
ORANGE

LYN WENT FROM $25 T0 $28. WHAT IS THE
PERCENT CHANGE?

88/ INCREASE:
RED

127 INCREASE:
ORANGE

307 INCREASE:
LIGHT BLUE

CONNER HAD 32 BASEBALL CARDS INMAY AND 75
BASEBALLS CARDS IN JULY.

134.38/
INCREASE:
BLACK

234.38/
INCREASE:
RED

4307 INCREASE:
YELLOW

WHITNEY ORIGINALLY HAD 10.1 OZ. OF BEVERAGE.
AFTER DRINKING A LITTLE WATER, SHE HAD 9.2 OZ.

89/ DECREASE:
LIGHT BLUE

9.78/ DECREASE:
RED

8.91/ DECREASE:
YELLOW

e
&)
S

THERE WERE ORIGINALLY 15 SLICES OF CAKE AT THE
PARTY.NOW THERE ARE 9 SLICES.

407 DECREASE:
LIGHT BLUE

607 DECREASE:
ORANGE

407 INCREASE:
BLACK

PERCENT OF ClHANGE:
INCREASE

EXAMPLE T 1n 2000 Tre :
gﬂ:&ég,“ PERCENT n of Denver, Colorado was B

: 3544 [n 200 the nwos F
mg%fw“w"w GDDEE.WKMzImWMMe

H G WEEERE ——) whin the new GFHR'I i "

H volue ks greater 1) arignol volue: 553,5%4
mmwmms Kwﬂﬂ_)' when the new volue: G00J5€

: 7) |5535% - GOOLSE| = U564

| STEPS:
] ety e orgrol vae andfhevew | 4) H6504_ o oguyzig
14) 0.06HHER . 100 = £HY/

H 2. Find e drange n e hwo vabes.
There ks an 8HI ncrease in population.

ammromu%‘%} (dide)

q;m%nnﬂmpm

PERCENT OF ChlANEzs
PIZCRIZASIE

| WHAT IS A PERCENT EXAMPLE. ¥: In 2000 the
{ CHANGE?

!
hfanseimin
H WA DTEFER —— when Hhe
H volue ks greater R
H GEAEEE FEEEE — when fhe

- mg‘mlducﬁqmw

#l H STEPS:

N lw@mmmame

§ £,

3577 it & fe pircent decrease. |
oF the populon? 5

1) original value: 2,713
new vojue: 3507

2)1373 - 357 =9
e _
3) 378 - 0.05Z7€T5.
4) 0.05Z7875 - 100 = 5287
Theve i 0 528/ decrease n population.

3 E.Fmﬁw&wqcmﬁwhnwma
Sl H 5 0 e v T30 ()

3 H 4 Mutipiy b 100 o hum ok et
1 (ol esony)




Percent, Fraction ¢ Decimal Maze

AN

Ctrart |
. What is
m,m,ﬁwm_w 0.5 0.25 as a
° t
decimail? percent?
Q
4 Qs 2.5%
. What is =
What is 15
04 asa 80% as a
fractione percente
<
2/5 & 12%
What is What is
7% Qs G 0.07 0.94 as ¢
decimai? percente
do
0.7 9 9.4%
.. 5
Whatis 3 What is
as q 62.5% | 0.03asa
percent? Vs /_ﬂao:o%

What is 3
25% asa
decimal?@
Ns 0.14
What is
13/20 65% as a
fraction®?
o 5
ob 6/
What is 12
20
0.94% s G
percent?
Q
o 23/50
What is
3/100 | 4% asa
fraction?

yd

N\

0.25

What is
0.35as a

£

57/100

percent?

3.5%

What is
57% as a

fraction?

5/7

What is

79% as g

0.79

Finich

\.Oh..vl

Y4

N \U3

decimal?2

an mewmew farmgpan samnhoen R A

*
smriim e e ran aa



Nare: Date:

TAX. TIP. AND MARKUP

DIRECTIONS: DETERMINE THE PRICE AFTER A TAX OR TIP AND CIRCLE YOUR ANSWER. ROUND TO THE NEAREST CENT WHEN NECESSARY.
FIND THE CORRECT BOX IN THE GRID AT THE BOTTOM OF THE PAGE AND SKETCH THE IMAGE ASSIGNED TO THE SOLUTION.

$24.98 WITHAN 18/ TIP

$13.H5 WITHA 9.5/ TAX

$10.98 WITHA 10/ TAX
AND 207 TIP

$137.62 WITHA 4/ TAX | 817615 . 64| 317851
AND 19/ TIP

A

 WHAT IS A TAX, TIP, OR EXAMPLE 13 1l and bis vy weent
| MA P ey '

wumm‘m.wum%m
187 4p, how wach wil e 1 be? :

- When out to dvingy

] awh"ﬁwm&mwm
- When a business parchases Hems to
H  be sod they tupiaky mark w the

2)» = 0% . BEHL
3) % = $2857 ==2{25F
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Name: Date:

COMMISSION

DIRECTIONS: DETERMINE THE COMMISSION FOR EACH PROBLEM ON THE LEFT AND DRAW A STRAIGHT LINE TO THE ANSWER
ON THE RIGHT. FIND THE PROBLEM NUMBER AT THE BOTTOM OF THE PAGE AND WRITE THE LETTER THE LINE CROSSES INTHE
BLANK SPACE.

37 COMMISSION
@| FOR$I200IN @
SALES.

15, L | $600
COMMISSION ON /
§2700 IN SALES. $121.50

25/ M $72
COMMISSION ON@ | Y
$1.800 IN SALES. - $266

57 COMMISSION | | $ll6
ON $5.800 IN D
SALES. T P $45

3.8 $184.21

& | (OMMISSION ON
$7.000 SALES.

THIS ANIMAL SOMETIMES HAS HORNS. _
THIS ANIMAL RANGES IN A VARIETY OF Bﬂﬂ?ﬂ'ﬂmm ¢

: 2 .
COLORS THE LIFE EXPE(TANCY FOR THIS : WHAT IS A COMMISSION: coromission on every television he sells. i

H In some businesses workers wil get | in the wonth of June Logain sels $2.750

ANIMAL RANGES FROM 10 TO 12 YEARS. [ pad o percent of thelr sles Thit - worth of tleviions o ach vl e

 bercentage is called a commvission.

THIS ANIMAL HAS GOOD HEARING BUT H For example,  car salesmain wil walke |)) pervent W, =—> 004

H vore money the more vars he sells. He

POOR DEPTH PERCEPTION. THIS ANIMAL : ?xﬁmﬁwi\rlﬁn (a percent of) total sales: $2,750
TENDS TO TRAVEL IN GROUPS. THIS AsTEPS: parr: ising volue (x)

2 ANIMALS SC ARES EASILY. AND WILL | Identify the importont ports. 7) %= 2750 - 004

4 QUICKLY FLEE. THIS ANIMAL IS A. el i L

3, Sove for e wissing vorioble. | Logan vl ea S0 in coraricsion
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Name

Percent Problems Card Sort

Read each story. Select a card to represent the final price of the item in each story. Select two
cards showing different equations that can be used to calculate the final price. In each equation,
F is the final price and C is the original cost.

A. A backpack has an original cost of $50. You have a coupon for 20% off.

_________________________________________________________________________

Frmmmm e e e mm mmmm ===

' (Equation) i (Simplified Equation)
I

e = - - — el e e Am EE E E o e e e e e e e ko e o amam mm e e e oo e e TS TOSROERER R

e N e e e 1 T

. (Equation) : (Simplified Equation) : (Final Price) :
I ] I
[} ] 1

________________________________________________________________________

(Final Price) :
I
I

e o e e e e o o

E. A pair of shoes has an original cost of $100. They become popular, they are marked up 25%

P e e e e R R S R Y s P Sty o R e e ]
- (Equation) : (Simplified Equation) : (Final Price) o
e I S |
F. A haircut costs $30. You want to leave a 20% tip.

e s |

I T

(Equation) : (Simplified Equation) : (Final Price)
I 1
1 1
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